Adda

e

RRB JE

Previous Year Paper

CBT 2 ME
29 Aug 2019 Shift 1

GET IT ON
Google Play




ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW



Adda247

Exam Exam
: AADHI II TECH MECH1 : 29-08-2019
Code Date
Exam
Version : ) :10:00 - 12:00
Time

Question No. 1

TSN $9 59 T & Haftd g2
A) e B) &hr
C) Me® D) ¥ o

Ryder Cup is associated with which sport?

A) Cricket B) Hockey
C) Golf D) Table Tennis
Answer Key : C Your Response : A (Wrong)

Question No. 2

3T AR AHS ARASH 7 37 aRl F A &I 8, oo A gl ST &
A) fafee o B) f&I (hunter)
C) fafeer B D) faar B

The constellation Ursa Minor contains the group of stars commonly called the-

A) Little lion B) Hunter
C) Little dipper D) Big dipper
Answer Key : C Your Response : Not Answered

Question No. 3

g1 & T A A AW 3MYfet I Fr Ay g9 ¥ AT F @A A JHAE B AR B AW
Il 87

A) SHE AR B) 31wt &meTa (Procurement cost)

C) &Arefargsd omdTd (Carrying cost) D) TEIHIEC deTd
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Which of the following inventory costs represents the cost of loss of demand due to shortage in
supplies?

A) Unit cost B) Procurement cost
C) Carrying cost D) Stockout cost
Answer Key : D Your Response : D (Correct)

Question No. 4
afeser & Hget F PWHT T quT §9 &7 87
A) o des @ifder e B) Wi des gifedr eI
C) URcd des gikallecd &eHe D) Gi¥e dos e diede

What is the expansion of PWHT in welding?

A) Pre Weld Heating Torch B) Post Weld Heating Torch
C) Postal Weld Horizontal Treatment D) Post Weld Heat Treatment
Answer Key : D Your Response : D (Correct)

Question No. 5

faffisr sk FRufadt & AT a9 s $r a1fd FF A 690 WA Hr gfhar
& ® H ST TG B

A) fIF9T (Governing) B) @aur (Bleeding)

C) 2figers (Cooling) D) Yei&dmdsT (Reheating)

The process of maintaining the speed of a steam turbine constant for various load conditions is
known as-

A) Governing B) Bleeding
C) Cooling D) Reheating
Answer Key : A Your Response : A (Correct)

Question No. 6

fFr RRu orv fEer & 2 9o & Ao geal & dfioerford Ader, 38 w37 3% aRomer
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g9 & AT g F TR aar &1 = & ®9 7 ST Frar g
A) Foi & fadreeT & {gid B) dli Fr Fardead & [Agled
C) Tasedr & & Talr D) sl &hr HIRUTdT &1 [Agled

The algebraic sum of the resolved parts of a number of forces in a given direction is equal to
the resolved part of their resultant in the same direction. This is known as-

A) Principle of resolution of forces B) Principle of independence of forces
C) All of the options D) Principle of transmissibility of forces
Answer Key : A Your Response : B (Wrong)

Question No. 7

U TIgUier (Quarter circle) FT S8+ S & W& Sigcd ATEQT ek gier 872

A) 11d2/36 B) md4/256

C) md4/128 D) nd4/64

What is the Moment of Inertia of a Quarter circle about its Diametral Axis?

A) 11d?/36 B) md%/256
C) md*128 D) wd*/64
Answer Key : B Your Response : B (Correct)

Question No. 8

ATAT FHRIOT YR T g HehaTl &l
(STeT A = &9%d, V = 314dd, p = geica 3R P = gam)

A) P1A1V1 = PoAV) B) p1A1 = p2A2

C) A1V1 = A2V2 D) P1V1 = P2V2

Continuity equation can take the form-
(where A= Area, V= Volume, p= Density and P= Pressure)

A) P1A1V1=PoAV; B) p1A1 = p2A2
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C) AVi=AVy D) P4Vq=P3Vs
Answer Key : C Your Response : C (Correct)

Question No. 9

J9 P Rz W & WY v AUl @aE 9d «onv Ja § 59 aRumesy R & &6

doc 8, r 3w IR wfaser va RAsfa (stress and strain) g &l

A) s ufdser (Compressive stress) 3R B) ool 9fdser (Tensile stress) 3R delet
dete fashfd (tensile strain) faspfd (Tensile strain)

C) &gz gfasel (Compressive stress) 3R D) daal ufdsel(Tensile stress) 3R @diEa
gdiseT fapfd (Compressive strain) fapfd (Compressive strain)

When a body is subjected to two equal and opposite pulls, as a result of which the body tends
to extend its length, the stress and strain induced are-

A) Compressive stress and tensile strain B) Tensile stress and tensile strain

C) Compressive stress and compressive D) Tensile stress and compressive strain

strain
Answer Key : B Your Response : B (Correct)
Question No. 10
Thoe R11 & TER@s g3 gl
A) CCI3F B) CCIHF
C) CHF D) CCIF3

The chemical formula of refrigerant R11 is-

A) CCIsF B) CCIHF
C) CHF D) CCIF3
Answer Key : A Your Response : A (Correct)

Question No. 11

el I8F R 7 To= Hr 9fhar HF AT FHgr Sar §?
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A) Fr3e SiRker B) faferr

X

C) dfFe D) afelar

The process of enlarging the holes to accurate sizes is called-

A) Counter boring B) Drilling
C) Reaming D) Knurling
Answer Key : C Your Response : C (Correct)

Question No. 12

Hore quf @1 & TAg & wenfad fre e faner aifafafer & fr sroaeer arelr &&r &r afer
AT gl AT 87

A) T Flle B) sf3use welle
C) cIed Fdlle D) tufFefadr vl

The amount of time by which an activity can be delayed without affecting project completion

time is-
A) Free float B) Independent float
C) Total float D) Activity float
Answer Key : C Your Response : C (Correct)

Question No. 13

el &7 & 3T @ 3W AT F v Fg F qlf F T IR 3AF AT F OB FT AT FaT
ST 87

A) &TheT I Ygell 3T B) &1Fthel & gidciid 3o
C) SeTHAT ST5cd ATHUT D) GegHAT &1 gidcig 3euT

The product of area and square of distance of centre of gravity of the area from that axis is
known as-

A) First moment of area B) Second moment of area

C) Mass moment of inertia D) Second moment of mass
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Answer Key : B Your Response : B (Correct)

Question No. 14
2019 #, fFE ARCAT Go¥ Peald aF 1 i g fhar ar=r g2
A) dIfaar ASRT B) Il e
C) 3R RecH® D) ¥a FR

In 2019, who was appointed the Indian men’s football team coach?

A) Savio Medeira B) Kushal Das
C) Igor Stimac D) Steve Cooper
Answer Key : C Your Response : Not Answered

Question No. 15

it Guely MR ¥ G-3wp ¥ drT g &)
A) 11.0 ¥ 15.0 B) 1.0 ¥ 5.0
C) 16.0 & 20.0 D) 6.0 & 10.0
G-ratio varies from in very rough grinding.
A) 11.0to 15.0 B) 1.0t05.0
C) 16.0to 20.0 D) 6.0to 10.0
Answer Key : B Your Response : Not Answered

Question No. 16

&St &% T T FF §U GA G@NT ST IAT ~eIcH HI0T F FAT gl ST §, S R g
§S cle W N 15 T&] T35 Al Y& R el 87

A) 3==1geT HIUT (Angle of elevation) B) ©WUT &IoT (Angle of friction)

C) 3782l &1 Il (Angle of latitude) D) fasifa @I (Angle of Repose)

The minimum angle made by an inclined plane with the horizontal such that an object placed on
the inclined surface just begins to slide is called-

A) Angle of elevation B) Angle of friction
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C) Angle of latitude D) Angle of Repose

Answer Key : D Your Response : D (Correct)

Question No. 17

forel g% i ART G 12000 Far/a§ g1 ST FA A AEET T 100 9 3 § AR GROT ARIT
%. 0.80 wfer 3msew wfar a1 &1 X 5 o ol ey a7t § 3R wfoeuwvs o &, o
nfde 3neer AFr AT AT

A) 500 T B) 1500 faT

C) 1000 =T D) 2000 =¥t

The demand rate for a particular item is 12000 units/year. The ordering cost is Rs.100 per order
and the holding cost is Rs.0.80 per item per month. If no shortages are allowed and the
replacement is instantaneous, then the economic order quantity is-

A) 500 units B) 1500 units
C) 1000 units D) 2000 units
Answer Key : A Your Response : A (Correct)

Question No. 18

dI9ATST T 3elel glelr (Temperature inversion) Teh T fRufa §, S ard@Ror #r agA=-

A) TATA & gl B) Im ar Furs(altitude) & AU Sgdr IT Tedm
gl
C) gHT ms(altitude) & AT FodT & D) gAM Fdrs(altitude) & ITY TedT &l

Temperature inversion is a condition in which the temperature of the atmosphere-

A) Remains same B) Either increases or decreases with altitude
C) Always increases with altitude D) Always decreases with altitude
Answer Key : C Your Response : D (Wrong)

Question No. 19
, a¢8 & NS F F(joint root) ¥ <X(toe) TF Hr g Bl
A) shiFea YUl (Effective throat) B) o
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C) TFg3Tel e (Actual throat) D) %a

The distance from the joint root to the toe of the weld is called-

A) Effective throat B) Leg
C) Actual throat D) Face
Answer Key : B Your Response : B (Correct)

Question No. 20

fRieTer VST FIAAT FT 3G 39T (clearance ratio) & 9T Aar gl
A) 15% T 20% B) 1% T 2%
C) 4% T 10% D) 20% T 30%

The clearance ratio for a single stage compressor lies between-

A) 15% and 20% B) 1% and 2%
C) 4% and 10% D) 20% and 30%
Answer Key : C Your Response : A (Wrong)

Question No. 21

AT AT FT Selgiioen e AT
A) 8, 2,3 B) 2,8, 3
C) 2, 8,2 D) 2,3, 8

What is the electron distribution in an aluminium atom?

A) 8,2,3 B) 2,8,3
C) 2,8,2 D) 2,3,8
Answer Key : B Your Response : B (Correct)

Question No. 22

52 I He & T Avew fir d&ar A I

A) 14 B) 12



Adda247

C) 13 D) 11

What is the number of moles for 52 g of He?

A) 14 B) 12
C) 13 D) 11
Answer Key : C Your Response : C (Correct)

Question No. 23

g O forg A & Tl AR AR g 87
A) Uided Aol B) Rafea d«
C) 4T @a D) fAses aa

Which of the following cells have bold boundary in MS-Excel?

A) Active cell B) Relative cell
C) Passive cell D) Mixed cell
Answer Key : A Your Response : A (Correct)

Question No. 24
So1dl § Pl AT WHAASOT (Normalising) FT 3827 &7
A) TR Fideell S gT A= B) #MAAIAT H JUR FIaAT
C) Iif3e ot I Ferm D) Reedr & & @

Which of the following is/are the objective of Normalising?

A) To remove internal stresses B) To improve the machinability
C) To enhance the mechanical properties D) All of the options
Answer Key : D Your Response : D (Correct)

Question No. 25

qoieT aIf FT TH 3ETERoT ¥

A) Th AT & et Fr afa B) gl &1 gHAT
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C) §F & uRT 3R gedr &I a1t D) T et @seh WX SR Fr afa

An example of rotational motion is-

A) Movement of drawer of a table B) Spinning of earth
C) Motion of earth around the sun D) Movement of a car on a straight road
Answer Key : B Your Response : C (Wrong)

Question No. 26
U g & A & Hee F gt § e @ e ¥
A) @YU g gaem s fr afa & faudla fGar B) a¥or g, a4l adel & dig 9% & 9

F T FaT B fosiT & &
C) =Yl §of HAGl & TIeIual/fAehals W ¥R D) AT 8907 (limiting friction) & IRATOT AR
AT &l &Y Gufhd agl & &g AT gfafsar &
ST T 3egard FEUR gl &

Which of the following is INCORRECT in the laws of dry friction?

A) The frictional force always acts in a B) The force of friction is dependent of the
direction opposite to that in which the body area of contact between the two surfaces

tends to move

C) The force of friction depends upon the D) The magnitude of the limiting friction bears
roughness/smoothness of the surfaces a constant ratio to the normal reaction
between

the two contacting surfaces

Answer Key : B Your Response : B (Correct)

Question No. 27

IGed FT Yoca-hg, oidad FSAT W AN I W §HH IUR & g W Py
g gl

A) 8r/3m B) 3r/4m

C) 4r/3m D) 3r/8m

The center of gravity of a semi-circle lies at a distance of from its base measured
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along the vertical radius.

A) 8r/3m B) 3r/4m
C) 4r/3m D) 3r/8m
Answer Key : C Your Response : C (Correct)

Question No. 28

A) F=g Siiael o TI&TOT B) WA AR
C) ogol & GI&fuT D) 3Gl 9Xd & GI&ToT

Montreal protocol is related to-

A) Protection of Wild Life B) Nuclear weapons
C) Protection of Whales D) Protection of Ozone layer
Answer Key : D Your Response : D (Correct)

Question No. 29

Tollc do8 FI dars & AT & AT Hr ST el
A) 3TAT didee 3R des & B) 3#Y fded 3R &R
C) des &1 3R gAY gfdsel D) #R 3R 3T gfdae

The length of the slot weld can be obtained from the ratio of-

A) Allowable stress to weld area B) Allowable stress to load
C) Weld area to allowable stress D) Load to allowable stress
Answer Key : D Your Response : A (Wrong)

Question No. 30
AFGY T T el ¢ FIAT g1 FHAT HROT R GG F _____ I[OT ¢
A) PIEIRAT B) TWhd e
C) tsgrersT D) faemifaer
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Mercury does NOT wet the glass. This is due to the property of the liquid known as-

A) Cohesion B) Surface tension
C) Adhesion D) Viscosity
Answer Key : B Your Response : D (Wrong)

Question No. 31

forely fRig X A o & A @l T
A) WA gE + TGASAT T B) W& T - AIYASIT &
C) fdd g9 + WA a§ D) foidTd e - argAsena g

Gauge pressure at a point is equal to
A) Absolute pressure + atmospheric pressure B) Absolute pressure - atmospheric pressure
C) Vacuum pressure + absolute pressure D) Vacuum pressure - atmospheric pressure

Answer Key : B Your Response : B (Correct)

Question No. 32

STl & Pl AT TEA FT FORAH U 87
A) derge B) AEHEET
C) 3iEcase D) dSsqAsc

Which of the following is the hardest constituent of steel?

A) Bainite B) Martensite
C) Austenite D) Ledeburite
Answer Key : B Your Response : B (Correct)

Question No. 33

Fiosh 5o & e eof & Irgarr A7
A) sdTS UH B) dlg et
C) o ey D) @ e
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Kanishka followed which of the following religions?

A) Christianity B) Buddhism
C) Jainism D) Sikhism
Answer Key : B Your Response : B (Correct)

Question No. 34

SIS Fr geffepeor Hr gomelr B (Triad) F 3wAEN A8 95 35 FifF a8 FHad $r
UgdleT Y el AT

A) IR P& B) da B
C) dT B D) gid &= (two triads)

Doberiener's system of classification into Triad was NOT found to be useful as he could identify

only:
A) Four triads B) Five triads
C) Three triads D) Two triads
Answer Key : C Your Response : C (Correct)

Question No. 35
TeRae Srafiege afFa TR B TS 3 T # T2
INBGIEIGES B) fAeR#A
C) AR D) FETer

In which state is the Tuirial Hydroelectric Power Project set up?

A) Nagaland B) Mizoram
C) Manipur D) Meghalaya
Answer Key : B Your Response : Not Answered

Question No. 36

ag gl Torwst fwor, Afeser & de A urg & haar ¥ a1 Ruehr §F waw § JeRar @,
Fgellel 87
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A) Fles T B) fagigor &X

C) degaoT D) HTeleT ITETS

The distance that fusion extends into the base metal or previous pass from the surface melted
during welding is known as-

A) Cold lap B) Deposition thickness
C) Dilution D) Depth of fusion
Answer Key : D Your Response : D (Correct)

Question No. 37

g felstt & 3c9e=1 g9 gfdae SaRT ogad faRam STer g1
(STet P = 3iiaRe® gara, d = 3iaR® & 3R t = ar $r AkR)

A) Pd/2t B) Pdit

C) Pd/4t D) Pd/3t

The Hoop stress developed in the thin cylinders is given by-
(where P = Internal pressure, d = Internal diameter and t =wall thickness)

A) Pd/2t B) Pdit
C) Pd/4t D) Pd/3t
Answer Key : A Your Response : A (Correct)

Question No. 38
M IOT C@RT ScTeet AT SoTf A FFESF ST gar &2

A) a&] @1 Fus AR ufdfds & FAS & B) awq T gt AR vlafes & gfr & egara
3feTdTel

S

C) wishd gl 3R Fshcl T T 3fegard D) vfdfds &1 =g iR avq & FAE F
37eqareT

o)

What is the magnification produced by a spherical mirror?

A) Ratio of height of object to the height of B) Ratio of object distance to the image
image distance
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C) Ratio of focal length to radius of curvature D) Ratio of height of the image to the height of

the object

Answer Key : D Your Response : D (Correct)

Question No. 39

gaIg (YRW) T SHIS RAT &7
A) Hfedasd B) =gcoT
C) Thatams D) 9rehel

What is the unit of pressure?

A) Kelvin B) Newton
C) Kilogram D) Pascal
Answer Key : D Your Response : D (Correct)

Question No. 40

AY G FATS Hdg Sallel $hr 9fshar gl
A) sS4 (Boring) B) JifHeT
C) ¥ D) ffefr

is the process of making flat surfaces on a lathe.

A) Boring B) Reaming
C) Facing D) Drilling
Answer Key : C Your Response : C (Correct)

Question No. 41
So1d] q PleT T WcRelh HIRST FT AT ifAeEor 82
A) Tadedr A & @8l B) gg«1efterar (Ignitability)
C) ufafsharefierar (Reactivity) D) H&IRoiIdr (Corrosivity)

Which of the following is likely a characteristic of hazardous waste?
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A) All of the options B) Ignitability
C) Reactivity D) Corrosivity
Answer Key : A Your Response : A (Correct)

Question No. 42

"51 A 60 K 5 V 05" Z@RT Y&t T St arer 9RIR&® 3qeades afge & 'V' &1 g2iiar 872

A) I3 B) §les YR
C) faT 3R D) 39a¥e & ThR

What does V' represent in this conventional abrasive wheel given by "561 A60 K5V 05"?

A) Grade B) Bond type
C) Grit size D) Abrasive type
Answer Key : B Your Response : B (Correct)

Question No. 43

E6010 T __ &1 WAL dTeT Saags &
A) 10,000 psi B) 61,000 psi
C) 7,000 psi D) 60,000 psi
E6010isa_____tensile strength electrode.
A) 10,000 psi B) 61,000 psi
C) 7,000 psi D) 60,000 psi
Answer Key : D Your Response : D (Correct)

Question No. 44

g & ¥ FiF a1 v FAEeF et §2

A) TIFC B) vegAaTH
C) e D) dreT

Which of the following is/are a ferromagnetic material?
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A) Tungsten B) Aluminium
C) Nickel D) Copper
Answer Key : C Your Response : C (Correct)

Question No. 45

Tolh & @I 3T b gufdr 8

A) SEdTad 3TAT FAT 3R qdadi 3NfEd B) dAdWaH AT @AY R qdadr nafad
Ay Ao

C) #dTdH IAY FAY 3R AT 3Nfeld D) dHT 36AT §AF AR Adadd 3naferd
Ay TAog

Slack represents the difference between the-

A) Proposed allowable time and the earliest B) Latest allowable time and the earliest
expected time expected time

C) Latest allowable time and the normal D) Normal allowable time and the Ilatest
expected time expected time

Answer Key : B Your Response : B (Correct)

Question No. 46

ST & A F oo A BT A FUT T B

A) 3N g F @ 3 ard gifeere UV B) 3Gl 3rcafee fshamder 8l
fafertor & s gl

C) Tasedt & & Tl D) 3iSileT BIcihifehel THIIT HT YHE Th gl

Which of the following statements about Ozone is true?

A) Ozone protects us from the harmful UV B) Ozone is highly reactive

radiation of sun

C) All of the options D) Ozone is the major constituent of
photochemical smog

Answer Key : C Your Response : C (Correct)
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Question No. 47

T GAgfed 3R T S @ A feiepct g@rr Aler F Belady e Ser 0F =77 @ arel
TAT T AT FFT 1T 87

A) Tsh Frel (Cycle time) B) 3mcer 3afer (Order time)

C) &ac TrsA (Takt time) D) 373rar 3afY (Lead time)

The amount of time elapsed from the moment an inventory replenishment order is placed and
the moment the supplier delivers the goods is-

A) Cycle time B) Order time
C) Takttime D) Lead time
Answer Key : D Your Response : D (Correct)

Question No. 48

0.8% FraeT AR 100% TS JoFd el I AT Fogl AT 872

A) EEU-geFCss T B) gBW Ieaciss ol
C) Jgeaciss & D) URIeeciss el

A steel with 0.8% carbon and 100% pearlite is called-

A) Hypo-eutectoid steel B) Hyper eutectoid steel
C) Eutectoid steel D) Pro eutectoid steel
Answer Key : C Your Response : C (Correct)

Question No. 49

o8 O A MRP Il & & & Hefia frar sirar &2

A) FegtheraRar RERTST corfeter B) #AONRIeH NeraradAc canfaer
C) #HORTew Rarfs difedr D) #AfFgad Reo usa

Which of the following is referred to as MRP I1I?
A) Manufacturing Resources Planning B) Materials Requirement Planning

C) Materials Resources Policy D) Maximum Retail Price
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Answer Key : A Your Response : A (Correct)

Question No. 50

AT W Rl a6 #T AR Wy, & 3R g2t & g0 5k W, &1 fafaf@a F & il a1 g7
wer 2

A) Wm

6 x W, B) Wy, = (1/6) x W,

C) Wy = 3 x W, D) W, = (1/3) x W,

The weight of an object on the Moon is W, and its weight on the Earth is Wg. Which of the
following formulas is CORRECT?

A) W =6xWg B) W, =(1/6) x Wg
C) Wy =3xWqg D) W, =(1/3) x Wg
Answer Key : B Your Response : B (Correct)

Question No. 51

TS tafa i@ S Agied 50 Hz & 3R gHehr qirded 4 Hex §1 3 ¥hs & afdy aler @ aa
7 gl AT P

A) 200 Hex B) 100 #Hiex
C) 300 HieX D) 600 Hrex

The frequency of a sound wave is 50 Hz and its wavelength is 4 m. What is the distance
travelled by the sound wave in 3 s?

A) 200 m B) 100 m
C) 300 m D) 600 m
Answer Key : D Your Response : D (Correct)

Question No. 52

faud ¢fadr (reverse polarity) afesr #, saagls glest I

A) €alcAs @ 8T BT § 3N FRIGE] B) ®UNcH® ¥ ST gl & 3R @wREE]
RUIcHS & SIS 8l & TeAlcHS & SIST Bl &
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C) sf@ufehd gIaT ¢ 3R HRIaE ROMcHAS gl D) $HUThd glaT & AR wRiaE] UeiicaAs giar
& 3

In reverse polarity welding, electrode holder is-

A) Connected to the positive and work to B) Connected to the negative and work to

negative positive
C) Earthed and work is negative D) Earthed and work is positive
Answer Key : A Your Response : A (Correct)

Question No. 53
frafaf@d At F ¥ fraer 3uer 3nd afeser & afweror 3 & 7 & a€t frar sar &2
A) &feas B) el SS3TFHISS
C) FIea HAIATFASS D) 3T

Which of the following gases is NOT used as shielding gas in arc welding?

A) Helium B) Carbon dioxide
C) Carbon monoxide D) Argon
Answer Key : C Your Response : C (Correct)

Question No. 54

EBCDIC & qof &9 =T §?
A) TFHESS B HIss STHHAAT ST HIS B) TegeTs 5T Hheldd Sl Sl s
C) TFHCSS S8 Helel SAHA Sl HIs D) Tegeds A5l HISS ST S His

What is the full form of EBCDIC?

A) Extended Binary  Coded Decimal B) Enhanced Binary Control Data Interchange
Interchange Code Code

C) Extended Binary Control Decimal D) Enhanced Binary Coded Data Integration
Interchange Code Code

Answer Key : A Your Response : A (Correct)
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Question No. 55

3 ¥ 919 3 X-X 38T W 4 A TERE I TF HAATHR WS & SScd YT AT HIfAT
A) 20 g B) 16 ¥+
C) 12 ¥t D) 9 a#4

The moment of inertia of a rectangular section 3 cm wide and 4 cm deep about X-X axis
passing through centre is-

A) 20 cm* B) 16 cm*
C) 12 cm? D) 9cm?
Answer Key : B Your Response : B (Correct)

Question No. 56

g 9w (grinding wheel) & 3097 & ¥ 913 Y 'E' 38R S@RT SRATAT 1T 82

A) IFFEIFARTSS B) IR

C) fafee D) el

Which of the following bonds is represented by the letter 'E' in grinding wheel?

A) Oxychloride B) Rubber
C) Silicate D) Shellac
Answer Key : D Your Response : A (Wrong)

Question No. 57

feler T & S W& A 58S 9T AT A B

A) &§ofT de (Orthogonal plane) B) &M 3quey o (Machine transverse
plane)

C) 31l der (Normal plane) D) &M 3refaed dof (Machine longitudinal
plane)

Back rake of a turning tool is measured on its-

A) Orthogonal plane B) Machine transverse plane
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C) Normal plane D) Machine longitudinal plane

Answer Key : B Your Response : B (Correct)

Question No. 58

Tdg & FONHOT & fav FrsemsfEr 7 e S i ufshar enfae g B
A) ATSHIA B) aArAfaTH
C) faam D) arsglete
Cyaniding involves the addition of for the hardening of surface.
A) Nichrome B) Niobium
C) Neon D) Nitrogen
Answer Key : D Your Response : D (Correct)

Question No. 59

AR T Th H, Soiel [Heisy F I sJeTad araaweT 9T giar &1
A) TFAAT TIh & 3Ad B) UdSiec Tieh I eI
C) TISEe FTIh o 3d D) FeRIeT TIeh I 23T

In a four-stroke cycle, the minimum temperature inside the engine cylinder occurs at the-

A) End of suction stroke B) Beginning of exhaust stroke
C) End of exhaust stroke D) Beginning of suction stroke
Answer Key : D Your Response : B (Wrong)

Question No. 60

CSIR # quf &9 =T 87

A) HeT BR @5 UZ g3E REd B) X wR aAsfefhe Uz Ef3ar Rad
C) F3fAe B ASH TS & Rad D) *3fad 3w TEfefre s ssftcaa Rad

What is the full form of CSIR?

A) Centre for Science and Industry Research B) Center for Scientific and India Research
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C) Council for Science and Industry D) Council of Scientific and Industrial

Research Research

Answer Key : D Your Response : D (Correct)

Question No. 61

HIS[eT YSIeUT H T 7S TSS WiAST FA & fAT Aéhe Foir (shortcut key) T 82

A) Ctrl + F B) Ctrl + M

C) Ctrl + O D) Ctrl + N

What is the shortcut key to insert a new slide into the current presentation?

A) Ctrl+F B) Ctrl+ M
C) Ctrl+ 0O D) Ctrl + N
Answer Key : B Your Response : D (Wrong)

Question No. 62

PleT T Sicad TF AR FAT A5 & ATTH § TAF FYN & Folae ael 7 WEH 87

A) I3 (Router) B) ¥ER(Star)

C) WAN D) s®(Bus)

Which network is able to connect to each computer through a common central line?

A) Router B) Star
C) WAN D) Bus
Answer Key : D Your Response : D (Correct)

Question No. 63
Foit & 31 Wil $T AT FT S0 §, 3 I F PR 371 8F W@ ¢ 3k amerw §2
A) FST & T A B) Fol & AdIONT i
C) ot & IN-wTdaoiT dia D) Foil & YRURS T

What is the name of the sources of energy which are being produced continuously in nature
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and are inexhaustible?

A) Exhaustible source of energy B) Renewable source of energy
C) Nonrenewable source of energy D) Conventional source of energy
Answer Key : B Your Response : B (Correct)

Question No. 64

FRSH F o9rereT 85 wfawrd g &l
A) TfATAIA 3iFarss B) s¥UId (Steel)
C) Tafora D) 3R 3eaSs

Corundum is composed of about 85 percent of-

A) Aluminium oxide B) Steel
C) Silicon D) Iron oxide
Answer Key : A Your Response : A (Correct)

Question No. 65

T AEHAIRCE gic W Ftd 3R TRt iR arelr @I, T e gl
A) 3 Fod F ATIHAT B) fafdrse 3mgar (Specific humidity)

C) 3raie aATT (Dew point temperature) D) s Tod I ATIHAT

The vertical and uniformly spaced lines on a psychrometric chart indicate-

A) Wet bulb temperature B) Specific humidity
C) Dew point temperature D) Dry bulb temperature
Answer Key : D Your Response : C (Wrong)

Question No. 66
uffie, T TegHifATs aEst AR IRRE 3iFEs & qolel & ATt FT HHOT g

A) 1:2 B) 1:3

C) 3:1 D) 2: 1
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Thermit is a mixture of fine aluminium powder and iron oxide in the ratio of about by
weight.
A) 1:2 B) 1:3
C) 3:1 D) 2:1
Answer Key : B Your Response : C (Wrong)

Question No. 67

Ife (R) 9fd ©¢ IREE IMUR T &, (S) FF & v #As ga7 § 3R (T) aafs a7 &, ar
ATl AT & IHJAR, FF F O i@ fhaar gem?

A) TR + [(S - T)2] x R B) TR

C) TR + [(S - T)S] x R D) TR+ (S-T) xR

If (R) is the base rate guaranteed per hour, (S) is the standard time for the job and (T) is the
actual time, then according to Rowan plan, wages for the job will be-

A) TR+[(S-T)2] xR B) TR
C) TR+[(S-T)/S] xR D) TR+ (S-T)xR
Answer Key : C Your Response : A (Wrong)

Question No. 68

Higar 100 g & 31 § & i afge & gfa 1 A4S 3muaa F fie & e gl
A) 44 B) 2.2

C) 3.3 D) 5.5

A concentration of 100 means carat of grit per 1 cm? of

grinding wheel volume.

A) 4.4 B) 2.2
C) 3.3 D) 5.5
Answer Key : A Your Response : Not Answered

Question No. 69
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fmfaf@a 7 & i a1 dSafds gtk 82

A) W % & St B) ¥ §% T FtAUlcieh 3N Uil &1 arsdienor
claAr
C) 9TeAT T arsdienyoT D) HowgRe TS &1 Yol glell

Which of the following is endothermic process?

A) Sublimation of dry ice B) Both Sublimation of dry ice and

Evaporation of water

C) Evaporation of water D) Dilution of sulphuric acid

Answer Key : B Your Response : B (Correct)

Question No. 70

fenw, sh o apfaw s§ 8, @ forsofia fmam s 81
A) e B) dSeT IF
C) dewe D) sef a8t

Litmus, a natural dye, is an extract of-

A) Lichen B) China rose
C) Beet root D) Blue berries
Answer Key : A Your Response : B (Wrong)

Question No. 71

gret (Grain) & 6 ¥ 24 & €I & SR H & ® FH HAGT AT gl
A) #HIT g (Coarse grain) B) 31caf¥e all& g« (Very fine grain)
C) 1% g1 (Fine grain) D) A ¢l (Normal grain)

Grain size ranges between 6 and 24 is considered-
A) Coarse grain B) Very fine grain
C) Fine grain D) Normal grain

Answer Key : A Your Response : A (Correct)



Adda247

Question No. 72
g ad & A0S S5 W qdsH H e |
A) THATT T B) 3T gl
C) 31T HRPI W AT M D) &% g

The compressor performance at higher altitude compared to sea level will be-

A) The same B) Higher
C) Dependent on other factors D) Lower
Answer Key : D Your Response : D (Correct)

Question No. 73

frafaf@a & & @A, ARY 2019 3 aier F1 FEEeE Agwa frar @ ar
A) U FHA B) 9T @ig

C) 9AlG dHrad D) afrcrer AR

Who among the following was appointed the Chief Minister of Goa in March 2019?

A) Bhupesh Baghel B) Pema Khandu
C) Pramod Sawant D) Nitish Kumar
Answer Key : C Your Response : C (Correct)

Question No. 74

g, S fF o 3T a9 gemer Rt g, =it 3 g 8

A) o B) urg

C) IR D) ar

Creep, a high temperature progressive deformation, occurs in stages.
A) Three B) Five

C) Four D) Two

Answer Key : A Your Response : A (Correct)
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Question No. 75

frdY 39T F Feler (flank) 3 ST (base) T wiaedea gl
A) &g B) =1
C) o+ D) &

is the intersection of the flank and the base of the tool.

A) Face B) Nose
C) Shank D) Heel
Answer Key : D Your Response : C (Wrong)

Question No. 76

Ife R 3SR 1 shassrer 30 Hiex / Bste I 1fd W 80 Asie 31k 60 = / fee 6ir afg w
8 fAde ured giar &, ar SR & Shasterer 1 FHeRT AT o]

A) vT07 = C B) v105 =¢C

C) yT04

C D) 703

C

Find the tool life equation, if a tool life of 80 min is obtained at a cutting speed of 30 m/min and
8 min at 60 m/min.

A) y107 =¢C B) v105=C
C) vio4=c D) v103=cC
Answer Key : D Your Response : D (Correct)

Question No. 77

TH AR YEUA AseEr g, S R 0w & sifae o & we « smfeRa
(noncontiguous) gl Fr gAY & B

A) Fafder B) hemeieer
C) ufsier D) HIHCewA

is a memory management scheme that permits the physical address space of a
process to be noncontiguous.
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A) Swapping B) Fragmentation
C) Paging D) Segmentation
Answer Key : C Your Response : A (Wrong)

Question No. 78

oY I &THaT % ®9 F gFad T A B
A) Teol UIFC & 3R 3T oY el B) &% &I wers 3Rk Ruser &r a1far
C) T&ddr 3N gl & o i g D) & "iaX 3R & a9

The capacity of a lathe is expressed as-

A) Tool post size and lathe travel B) Bed length and spindle speed
C) Swing and distance between centres D) Horsepower and chuck diameter
Answer Key : C Your Response : D (Wrong)

Question No. 79

3eqel FoH, [ IEW F N ART F Tsguia w2
A) 2002-2007 B) 1997-2002

C) 1992-1997 D) 2007-2012

Abdul Kalam served as the President of India during-

A) 2002-2007 B) 1997-2002
C) 1992-1997 D) 2007-2012
Answer Key : A Your Response : A (Correct)

Question No. 80

UR-FEIF aler §a1e7 H, F1F I (working cycle) # Qe Bl
A) $HHATFC & TR TFHT B) shaeloe & &l Il
C) Shploe &l Teh TFhT D) HhaeliFe & died T

In a four-stroke engine, the working cycle is completed in-
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A) Four revolutions of the crankshaft B) Two revolutions of the crankshaft
C) One revolution of the crankshaft D) Three revolutions of the crankshaft
Answer Key : B Your Response : B (Correct)

Question No. 81

AR SIEAHTFASS T AT GAF FaT 82
A) -56.6° C B) -75.2° C

C) -135.8° C D) -87.7° C

What is the approximate freezing point of sulphur dioxide?

A) -56.6°C B) -75.2°C
C) -135.8°C D) -87.7°C
Answer Key : B Your Response : Not Answered

Question No. 82

Fefr aiRfEafadr d= ¥ WIod St FoIYe & Y B &l
NI G B) Soll> olhar
C) ag D) &

All eco-systems begin with energy input from-

A) Water B) Firewood
C) Air D) Sun
Answer Key : D Your Response : D (Correct)

Question No. 83
frfaf@a 7 & *i a1 TaF s Sorer & Hefora =16t 87
A) T TerdT B) sfdaAereT sisd
C) Wl ot D) &ediex

S

Which of the following is NOT related to a spark ignition engine?
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A) Spark plug B) Ignition coil
C) Fuelinjector D) Carburettor
Answer Key : C Your Response : C (Correct)

Question No. 84
A A PleT W AR g@RT fFar s/ Asreenfas (in-situ) E&T0T 39T 82
A) WISiFe Tellthe B) fasredl & & @ell
C) YSiae ol D) Waee ST

Which of the following is an in-situ conservation measure taken by India?

A) Project Elephant B) All of the options
C) Project Lion D) Project Rhino
Answer Key : A Your Response : D (Wrong)

Question No. 85

518 ¥ Pl T T YhR T sFdFe-MeT &7
A) Tarex B) @R X
C) s&-olc WX D) s ex

Which of the following is a kind of impact printers?

A) Plotter B) Laser printers
C) Ink-jet printers D) Line printers
Answer Key : D Your Response : A (Wrong)

Question No. 86

s ¢ U Y @B & Aqdas Fa7 & dg = 9T d31 fRar Sirar
A) &R e B) &R 3mads
C) f&r am D) fQsedl & & Tsf

The gas in cooling chamber of a closed cycle gas turbine is cooled at-
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A) Constant pressure B) Constant volume
C) Constant temperature D) All of the options
Answer Key : A Your Response : A (Correct)

Question No. 87

SoIH A PleT AT 2 Fec & el 8T 87
A) 3T B) &d a1
C) #B3™ D) foieh

Which of the following terms is NOT related to the Internet?

A) Browser B) Search engine
C) Mouse D) Link
Answer Key : C Your Response : C (Correct)

Question No. 88

ARad § ¥ FilF @ "RTRE wRea" f A9 fr sw g §7?
A) et gfa <afda B) Jdlldel gFcaX

C) g #HeX D) &« g¢ (Man Hour)

Which among the following is the unit of measurement of the “Ecological Footprint™?

A) Gallon Per Capita B) Global Hectare
C) Cubic meter D) Man Hour
Answer Key : B Your Response : B (Correct)

Question No. 89

3R Tuss T & 3ER, 8, 8, 5, 5, 6, 6, 1 I RTAW Vol FA arr AR §l
So1df 1 R ceifar &7

A) st TE B) A1Ss &icar Tar

C) are Refw wrer D) &F Y& el
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A tool has the signature form as 8, 8, 5, 5, 6, 6, 1 as per American Standard Association. In
this, 1 represents-

A) Nose radius B) Side cutting edge
C) Side relief angle D) Back rake angle
Answer Key : A Your Response : A (Correct)

Question No. 90

T FOR Uz W FRRT AT Tt & aR@mor, farr ik frar Y@r # wHaR v fegsr f de

3T @RT YeRRia fFar ST 81 A 9 O W JOYIH F AT &, TSraer 3megor &
T BT B

A) BT & & Fahel & did I B) st & &awher

C) st & &iFher & MY D) T & &1l & al I

Three forces acting on a rigid body are represented in magnitude, direction and line of action by
the three sides of a triangle taken in order. The forces are equivalent to a couple whose
moment is equal to-

A) Thrice the area of the triangle B) The area of the triangle
C) Half the area of the triangle D) Twice the area of the triangle
Answer Key : D Your Response : D (Correct)

Question No. 91
st @ RrE AT T WER IUT ST A BT 87
A) EAolH Eol B) g=aR
C) =i D) Jafaad

Which of the following materials has nearly zero coefficient of expansion?

A) Stainless steel B) Invar
C) Silver D) Selenium
Answer Key : B Your Response : B (Correct)

Question No. 92
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&F O W gd 98 W &, 395 PR a1 dfcd W 7l o 9 AR 7 T ST a1 3T
_____®l

A) #A3Y 98 B) &g

C) dR (Weir) D) 3R

is a small opening of any cross section on the side or bottom of the tank on

which fluid is flowing. www.exammix.com

A) Mouth piece B) Notch
C) Weir D) Orifice
Answer Key : D Your Response : B (Wrong)

Question No. 93

'z war FE TS & @&fadT 87
A) ATy B) 3Nf3er

C) 3y ucer D) IR

With which state is the art form 'Patachitra’ associated?

A) Tamil Nadu B) Odisha
C) Andhra Pradesh D) Guijarat
Answer Key : B Your Response : Not Answered

Question No. 94

U H AIH wgar ¢ # o g W P arem gie @i st # svew @
el

A) YTelT varg (Laminar flow) B) 37eMd 9drg (Turbulent flow)

C) 3737 yarg (Inviscid flow) D) efd ga (Fluid at rest)

Pascal's law states that pressure at a point is equal in all directions in a/an-
A) Laminar flow B) Turbulent flow

C) Inviscid flow D) Fluid at rest
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Answer Key : D Your Response : D (Correct)

Question No. 95

= AIGF0T (Inventory control)3iR IoTEer fA=0T (quality control), 3cdTee A wa fAor
& 3aH O fFg Wor & enfAe gar g2

A) faeRET TROT (Monitoring stage) B) faairsieT TRoT (Planning stage)
C) Yd-f¥dlsleT =ROT (Pre-planning stage) D) &R TXOT (Action stage)

Inventory control and quality control is involved in which of the following phases of production
planning and control?

A) Monitoring stage B) Planning stage
C) Pre-planning stage D) Action stage
Answer Key : A Your Response : A (Correct)

Question No. 96
el & carat fr ST A F AU 577 § Fraer wAer fHmar Srar g7
A) AR T O A B) fhele s
C) Teeq A D) Tofer et

Which of the following is used to check the diameters of holes?

A) Standard screw pitch gauge B) Fillet gauge
C) Slip gauge D) Plug gauge
Answer Key : D Your Response : D (Correct)

Question No. 97
i werra & ST A F fAw fre V saller &1 gter fFar Srar 872

A) 90 f33fY & IUT aTel V sclieh T 9T fhar B) 60 f33ft & 0T arel V saileh &I 99T foham
ST g ST &l

C) 30 f33ff & IUT arer V sclieh &I AT fhar D) 120 f33 & 0T arer V solied &1 9TeT
ST g forar Smar g1
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Which V block is used for checking triangle effect?

A) V block with 90-degree angle is used B) V block with 60-degree angle is used
C) V block with 30-degree angle is used D) V block with 120-degree angle is used
Answer Key : D Your Response : Not Answered

Question No. 98

S AW(Grains) F TH ST §d4 & v #AN @o$ (heavy casting) & =l
araregRiteeT Sfsar #r S 87

A) fa@Ror dmrerefideT (Diffusion annealing) B) 9fshamId drdregeiideT (Process annealing)

C) quT amrerefi= (Full annealing) D) THUSEST Taltelal (Spherodise annealing)

Which annealing process is carried out in a heavy casting to make austenitic grains

homogeneous?

A) Diffusion annealing B) Process annealing

C) Full annealing D) Spherodise annealing
Answer Key : A Your Response : A (Correct)

Question No. 99

il ¥ e ¥ IER, I Rl FoT W F R 9 FF GAGNT 9 Hgerwt A §, o
|

A) 3W g # TYd &A@ Y [§g W 3 B) 3ot SO IQer =g B &
CaNT RN Uil T oy T
T BT

C) farelr sff g W 3719 g@arr 3NN 3mgeil D) 39 frar Y@ gae g W Rewra g €
w1 domlOhE @, s Rig WS
aRUTET SeT gEaRT MG IS & W
BT §

According to the law of moments, if a number of coplanar forces acting on a particle are in
equilibrium, then-

A) The algebraic sum of their moments about B) Their algebraic sum is zero
any point in their plane is zero
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C) The algebraic sum of their moments about D) Their lines of action are at equal distances
any point is equal to the moment of their
resultant force about the same point

Answer Key : C Your Response : A (Wrong)

Question No. 100

T THIX & X & 12 A B8R &= & v safr sasad §# 3 A & Rada &

TERTHT FIelt &1 SHPT FARH (sensitivity) AT RFIT
A) 15 mm/A B) 36 mm/A
C) 4 mm/A D) 9 mm/A

An ammeter requires a change of 3A in its coil to produce a change in deflection of the pointer
by 12 mm. Its sensitivity is-

A) 15 mm/A B) 36 mm/A
C) 4 mm/A D) 9 mm/A
Answer Key : C Your Response : C (Correct)

Question No. 101
wHEfaFgadA_ g d&ar gl

A) YT WHAGT Fiddel Td YT IJUEIUT B) RT AT TF YT HARAUT Ficdieel
gfdser

C) ®UMcA® HAGTYT fddd Td Yed HUEY0T D) €ellcHe HHATT Yiddd Ud 3T HOEYOT
gideel EIGEL]

A static fluid can have-

A) Zero normal stress and non-zero shear B) Non-zero normal stress and non-zero

stress shear stress

C) Negative normal stress and zero shear D) Positive normal stress and non-zero shear

stress stress

Answer Key : C Your Response : C (Correct)

Question No. 102
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J9 @5 # GR-UR @) B e §, o Wz F dodia @efa S (strain energy ) @1
(58T o = Rz & gqrdf F ufdee, V = ®is &7 3maae, 3R E = 9erd 1 Tearear aqun)

A) oVIE B) oE/NV

C) o2E/2v D) &2vi2E

The strain energy stored in a body, when the load is gradually applied, is :
(where o = Stress in the material of the body, V = Volume of the body, and E = Modulus of
elasticity of the material)

A) oVI/E B) oE/N
C) o%E2V D) o?vi2E
Answer Key : D Your Response : D (Correct)

Question No. 103

T TATAT YRIA (symmetrical section) it &es §IF & 31O s widaer gam
W g Bl

A) STHES HISe] B) #ggol Uirad

C) 3M13¢HISS WIge] D) #cissd uidad

The maximum bending stress in a curved beam having symmetrical section always occurs at
the-

A) Inside fibre B) Neutral axis
C) Outside fibre D) Centroidal axis
Answer Key : A Your Response : C (Wrong)

Question No. 104
PSLV-C45 &t & g diea 43 & wAa fRam I a
A) 3isgel Helld &did (Abdul Kalam Island) B) YFST SHACIRT he dllfeadl FAeT

C) fdr®m daOrRIS 3aReT &g (Vikram D) Tder @asr 3idReT g (Satish Dhawan
Sarabhai Space Centre) Space Centre)

The PSLV-C45 was launched from the second launch pad of the-
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A) Abdul Kalam Island B) Thumba Equatorial Rocket Launching
Station
C) Vikram Sarabhai Space Centre D) Satish Dhawan Space Centre
Answer Key : D Your Response : Not Answered

Question No. 105

IcIesT fdieeT T AIE0T & qa-fadieneT =T 7 s & @i o afafafeRr anfae &kl 82

A) 9vuT (Dispatching) B) #MT qaleAT (Demand forecasting)
C) g& f&IF0T (Inventory control) D) doTacar fag=oT (Quality control)

Pre-planning stage in production planning and control includes which of the following activities?

A) Dispatching B) Demand forecasting
C) Inventory control D) Quality control
Answer Key : B Your Response : B (Correct)

Question No. 106

Jes 2% (weld decay) $r gREear 7 gt &1
A) rET B) ddedr
C) TogAlfemH D) Todeld Tre

The phenomenon of weld decay occurs in-

A) Bronze B) Brass
C) Aluminium D) Stainless steel
Answer Key : D Your Response : D (Correct)

Question No. 107

gfaer afeser 7 3c9eT FsAr (H) = CaRT o T SITaT g1 (STef | = orT, R
= do3 g arel &1F & 9faY AR t = URT F YaIE T THY)
A) IRt B) 12Rt

C) IR%t D) |Rt?
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The heat generated (H) in resistance welding is expressed by-

(where | = current, R= resistance of area being welded and t= time for the flow of current)

A) IRt B) I2Rt
C) IR% D) IRt
Answer Key : B Your Response : B (Correct)

Question No. 108

A) IcRTEs B) 3@
C) N D) s

Where is Vansda National Park located?

A) Uttarakhand B) Assam
C) Guijarat D) Punjab
Answer Key : C Your Response : Not Answered

Question No. 109

i & Y ¥ UDL & o7 §9 7 872

A) FAEH fBEdsges &S B) 373 f3UfSer ofis
C) 3eisad f3EIeges oils D) ZeArses fSshifaiar s

What is the expansion of UDL in the beams?

A) Uniformly Distributed Load B) Under Depending Load
C) Uneven Distributed Load D) United Decreasing Load
Answer Key : A Your Response : A (Correct)

Question No. 110

afaf@d § ¥ T A o afaeia ga & 7 =9 &2
A) SScd 9o B) faseul & & el




Adda247

C) oI o D) [&carehyoT &ef

Which of the following forces act(s) in a moving fluid?

A) Inertia force B) All of the options
C) Viscous force D) Gravity force
Answer Key : B Your Response : B (Correct)

Question No. 111

fFaer 9R & 3fiftewa Fole #Algg §?
A) 1 B) 3
C) 4 D) 2

How many types of optical flats are present?

A) 1 B) 3
C) 4 D) 2
Answer Key : D Your Response : Not Answered

Question No. 112

W (Bagasse) H 39T T 3UIEA FA & T fRar Srar g1
A) 3aTH B) rTaT
C) @ D) |reet

Bagasse is used to produce-

A) Fertilizers B) Papers
C) Manures D) Soaps
Answer Key : B Your Response : B (Correct)

Question No. 113

goot § T W1 wfaeell Hr B F arefier confees fawwor #ir ool giy @ qeifer 87

A) $IR faefsiet (Brittle fracture) B) d=a fasister (Ductile fracture)
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C) T (Creep) D) sifa (Fatigue)

Which of the following is a slow rise of plastic deformation under the action of stresses?

A) Berittle fracture B) Ductile fracture
C) Creep D) Fatigue
Answer Key : C Your Response : C (Correct)

Question No. 114

‘TR Al RIS NRAF FT A g
A) =g Sils B) STUT=AT
C) =IRar D) =eir

'Kimono' is the traditional dress of-

A) New Zealand B) Japan
C) Korea D) China
Answer Key : B Your Response : Not Answered

Question No. 115

ST § HieT &1 FRAA WS 76T 87
A) Thsiifersh B) faelrger
C) Teargel D) 2eleh

Which of the following is NOT an artificial resin?

A) Phenolic B) Vinyl
C) Alkyl D) Shellac
Answer Key : D Your Response : D (Correct)

Question No. 116

a8 a1 8, oraer v R fhe glar § 3R g R wrureraar awfda gr

gl
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A) 9Icg Hdlellax S B) fhad &l (Fixed beam)
C) ¥@dd s (Continuous beam) D) 3tax-gfler e

is a beam with one end fixed and the other end simply supported.

A) Propped cantilever beam B) Fixed beam
C) Continuous beam D) Over-hanging beam
Answer Key : A Your Response : A (Correct)

Question No. 117
ABHN F RAge W fhder oo 3Rnifra g &7

A) 50 B) 40

C) 25 D) 15

How many divisions are graduated on the thimble of micrometer?

A) 50 B) 40
C) 25 D) 15
Answer Key : A Your Response : A (Correct)

Question No. 118

fedser & o1 RAeuEr @ A9e F AT wHAea: R qafaT (comparator) T w=er AT ST
¥4

A) II5 YRR & Jodf@d (Reed type B) T&7AT JafaT (Sigma comparator)

comparator)

C) ﬁang-r ?flﬁ':f (Electric comparator) D) 3iffCeahal ?:I}Iﬁ':f (Optical comparators)

Which comparator is generally used to measure small displacement of spindles?

A) Reed type comparator B) Sigma comparator
C) Electric comparators D) Optical comparators
Answer Key : A Your Response : A (Correct)

Question No. 119
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T3t fehT gdelr wext F IRafdd wer & aor gl ST g
A) 9&rdeT (Lustre) B) 3mardad=iadr (Malleability)
C) HAIREr (Sonority) D) deaar (Ductility)

The metals can be beaten into thin sheets, the property is called

A) Lustre B) Malleability
C) Sonority D) Ductility
Answer Key : B Your Response : B (Correct)

Question No. 120
IR 3T &1 g4eT fRafae T sirar 82

A) e e & s #Xe 3R 38 Ao B) wgeAr el & & & Red s & S
& fou A & foT

C) T Toel 39 Fr Sg el 3R 38 Ac D) TAdhedi # & Tl
A & fav

Feeler gauges are used to-

A) Check and measure the bearing B) Check the gap between the mating parts

clearance
C) Check and set the spark plug gaps D) All of the options
Answer Key : D Your Response : D (Correct)

Question No. 121
RIS A FeRISS A AfOhad FwR Aigar e 8?2
A) 1.0 e 9fd dex B) 1.50 fAeame gfad oliex
C) 1.25 fAeiama gfd e D) 1.75 fAeane gfad oiex

What is the maximum allowable concentration of fluorides in drinking water ?
A) 1.0 milligram per liter B) 1.50 milligram per liter

C) 1.25 milligram per liter D) 1.75 milligram per liter
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Answer Key : B Your Response : Not Answered

Question No. 122

QR 9T Hr & § F ST ST FheTl ¢
A) faTwrdr ga (Dilatant fluid) B) &ggIveni¥es ga (Pseudoplastic fluid)
C) =gaifaast ga (Newtonian fluid) D) fees gued ga (Bingham plastic fluid)

Paper pulp can be regarded as-

A) Dilatant fluid B) Pseudoplastic fluid
C) Newtonian fluid D) Bingham plastic fluid
Answer Key : B Your Response : D (Wrong)

Question No. 123

e (fluid) # 30 e WY 718 Fredfas @r g, S fFr g W seiar #F 39 g w aifa 6
frredr®, & & & w0 S #

A) Greferger ¥@r (Potential line) B) ¥ Y@ (Streak line)

C) 9y @ (Path line) D) A @1 (Stream line)

The imaginary line drawn in the fluid in such a way that the tangent to any point gives the
direction of motion at that point, is known as-

A) Potential line B) Streak line
C) Pathline D) Stream line
Answer Key : D Your Response : D (Correct)

Question No. 124
SId U Pl AT TEAT 35 T S5 AwIor 872

A) 101010 B) 100100

C) 101000 D) 100011

What is the binary representation of 35?

A) 101010 B) 100100
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C) 101000 D) 100011

Answer Key : D Your Response : D (Correct)

Question No. 125

W = 20 kN 3R ardl U soifeh, SifasT & 30° & UT gt 3Md dol 90 OHAEERr 3 @r [ m
¥ ST dF F A FRRA ST & GH & AT AT T

A) 17.32 KN B) 10 KN

C) 14.14 KN D) 5 KN

A block weighing W=20 kN is resting on an inclined plane which makes an angle of 30° to the
horizontal. The component of gravity force parallel to inclined plane is-

A) 17.32 kN B) 10 kN
C) 1414 kN D) 5kN
Answer Key : B Your Response : B (Correct)

Question No. 126

Ife Tl 9ol r FFATX@TT & & Y@ W FF FICAr §, aF Tl T AT Fgl Al g7
A) FATT FAWGR & (Coplanar parallel B) 3&&Adeiy IR-@HadT & (Non-coplanar

forces) non-concurrent forces)
C) @I o (Collinear forces) D) ¥#de ¥HAddr o (Coplanar concurrent
forces)

If the line of action of all the forces are along the same line, then the forces are said to be-

A) Coplanar parallel forces B) Non-coplanar non-concurrent forces
C) Collinear forces D) Coplanar concurrent forces
Answer Key : C Your Response : C (Correct)

Question No. 127
&1 & Pt |1 FAOF g IHTEdF g7

A) A|203 B) @T[
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C) SiC D) CBN

Which of the following is the softest abrasive?

A) Al,O3 B) Diamond
C) SiC D) CBN
Answer Key : A Your Response : A (Correct)

Question No. 128
IFd ot fAmfaf@a & @ frw @E & diut i genfaa s 82
A) TREY ¥ 9Tod 9N deal T $ROT Hh B) gl & Urcd diveh dcdl ol dgla
C) fAgY & urcd dWiver deal &l Hfald e D) A & ured 9wk deal F ARG FF

In which of the following ways does acid rain affect plants?

A) By nourishing the nutrients from the soil B) By increasing the nutrients from the soil
C) By balancing the nutrients in the soil D) By limiting nutrients from the soil
Answer Key : D Your Response : D (Correct)

Question No. 129

Wl Toc & &r Hlgl & o &l HIOT fohctall giar 87

A) 45° B) 180°

C) 90° D) 120°

What is the angle between the two surfaces of an angle plate?

A) 45° B) 180°
C) 90° D) 120°
Answer Key : C Your Response : A (Wrong)

Question No. 130

3 AT BT OF & FodeT HleT o1, S 1983 7 ERTe 962 F9 F AT v a7 A
e i Tl r A7
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A) faa Rasa B) Rt Resae

C) #Howd AT D) Fd8d Igs

Who was the captain of the West Indies team that was defeated by the Indian Cricket team in
1983 to win the Prudential World Cup?

A) Viv Richards B) Richie Richardson
C) Malcolm Marshall D) Clive Lloyd
Answer Key : D Your Response : Not Answered

Question No. 131
N.P.L. 35T $eIBUHET & qoF &7 1 87
A) A& 9eEs ook B) =il fhfoierd olaRedr
C) TYfFeIX TelloHT ofaRedy D) gfFerR fhfaierd oleiedr

What is the full form of N.P.L. Gauge interferometer?

A) Nikon Pulsed Laser B) National Physics Laboratory
C) Nuclear Plasma Laboratory D) Nuclear Physics Laboratory
Answer Key : B Your Response : A (Wrong)

Question No. 132

s ¥ fore aemelt i aetereiierar (ductility) aifas g 82

A) oigr B) carees
C) e D) vegA=TH

Which of the following materials has the maximum ductility?

A) lIron B) Tungsten
C) Nickel D) Aluminium
Answer Key : D Your Response : D (Correct)

Question No. 133
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mend AR Hag ARE F e goit F AT gt & Fla ar ot sieedT 37
A) $IRAT (Brittleness) B) dmXA (Strength)

C) Tedl (Toughness) D) s« (Stiffness)

Which of the following properties is desirable in parts subjected to shock and impact loads?

A) Brittleness B) Strength
C) Toughness D) Stiffness
Answer Key : C Your Response : C (Correct)

Question No. 134

el Eqor & &I 9T arer g¥oT 9 g
A) o &ifgd adgr B) o Ud gd dardf
C) ar Y Hclgl D) &mqef a1 arer st

Coulomb friction is the friction between-

A) Two lubricated surfaces B) Solids and liquids
C) Two dry surfaces D) Bodies having relative motion
Answer Key : D Your Response : C (Wrong)

Question No. 135

QAT YHRI F AT AATE T F RFeraa @ &1 THA FEaT gl
A) 9T (Dispersion) B) 3y (Interference)
C) 3m9ad« (Refraction) D) YhIRMESVUT (Photosynthesis)

The process of splitting up of white light into seven constituent colours is called-

A) Dispersion B) Interference
C) Refraction D) Photosynthesis
Answer Key : A Your Response : A (Correct)

Question No. 136
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oY 35 ¥ FoTr giar
A) Tofar oligr B) 3T leeT ST
C) 3= Ty g gTdId D) #g s¥urd

Lathe bed is made up of-

A) Castiron B) High carbon steel
C) High alloy steel D) Mild steel
Answer Key : A Your Response : A (Correct)

Question No. 137

&d fareaET (rest) 3 g W, 319®9oT Yfasel (shear stress) g gl
A) HYETAT B) =&
C) 3fferehas D) T

When a fluid is at rest, the shear stress is-

A) Undefined B) Zero
C) Very large D) Finite
Answer Key : B Your Response : B (Correct)

Question No. 138

, -39 3T & A, Feaur, TFAw T (o) AR five & Ao o= g

el
A) fadwrgs 15 B) I &
C) ol a3 D) fafase ars
consists of a mixture of clay, feldspar, flint and frit in varying proportions.
A) Vitrified bond B) Rubber bond
C) Shellac bond D) Silicate bond

Answer Key : A Your Response : D (Wrong)
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Question No. 139
TR T I8 Far g, St 9 F gl & ST 51 Fhar §, 39 FIT gl AT §72
A) T&ger B) dsa
C) dishe D) fedza

The largest diameter of work that can be carried between the centers of a lathe is known as-

A) Swing B) Saddle
C) Socket D) Spindle
Answer Key : A Your Response : A (Correct)

Question No. 140
RFe g A" Arfaf@d 7 & Fa g @ g&6faa A7
A) seelt B) sTrt
C) Aderf@a D) e

To which of the following countries did Alexander the Great belong?

A) ltaly B) Greece
C) Mesopotamia D) Egypt
Answer Key : B Your Response : A (Wrong)

Question No. 141

fara dF =1 FEaTET Tl YT 87
A) SrEes B) fharsiewar
C) A WwifaEar D) arfieres], DC

Where is the headquarters of the World Bank located?
A) Boston B) Philadelphia
C) San Francisco D) Washington, D.C

Answer Key : D Your Response : D (Correct)
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Question No. 142

goTef ¥ Pl AT FTEIW FT 3ETEI0T A& &2
A) X B) #3H
C) TheiX D) gelueX

Which of the following is NOT an example of hardware?

A) Printer B) Mouse
C) Scanner D) Interpreter
Answer Key : D Your Response : D (Correct)

Question No. 143

TedT AMF $ SHE & A gr B
A) ufdsd, ge 3R IAFAAT AR B) ufadd, g 3R IcIrEIdr AIH
C) fasfa, sa 3R @ D) wfderer, faspfd 3R g«

The unit of modulus of rigidity is the same as those of-
A) Stress, pressure and modulus of elasticity B) Stress, force and modulus of elasticity
C) Strain, force and pressure D) Stress, strain and pressure

Answer Key : A Your Response : A (Correct)

Question No. 144

P TES F MY T F@Mmrr S § HR g de AR Hier gor A weRr &
fore e R S g

A) SR B) &u3E ¢
C) dsa D) <o ¥

is fitted on the top of cross slide and is used to support the tool post and the

cutting tool.
A) Carriage B) Compound rest

C) Saddle D) Tail stock
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Answer Key : B Your Response : B (Correct)

Question No. 145

asfEer FAF v ST §7
A) Tdg aRsaHor & fav B) @&l & 3R doid & foIT
C) offer & faw D) Wi & faw

Grinding is used for-

A) Surface finishing B) Enlarging the holes
C) Lancing D) Forming
Answer Key : A Your Response : A (Correct)

Question No. 146

ABeEiE & vg T & 9 Yot I fhcelt & aF 0T fBFr S =anfge?

A) 5-20 §& B) 21-100 &¢

C) 100-200 ¢ D) 300-500 ¢

How long should a steel component be heat treated before nitriding?

A) 5-20 hours B) 21-100 hours
C) 100-200 hours D) 300-500 hours
Answer Key : B Your Response : Not Answered

Question No. 147

fPafe daer @t &ifdsr W@ W goager dAe W Fel S RRAEET # 3T Srar 87
A) "I gT B) d¥ed §¢

C) &z & D) &l &

Where does the bubble rest on the scale when spirit level is placed horizontally?
A) Right most B) Left most

C) Centre D) Bottom



Adda247

Answer Key : C Your Response : C (Correct)

Question No. 148

TF XYZ Tlfaser smqfelsrar A Seme F 200 I, 39T # 225 de AR Rdsw F 245 A< &
HiIT 9o g1 W Aad R F1 90T FE IR F AR F T AR @A T $r aorer
T

A) 175 &1 B) 200 T

C) 150 =71 D) 224 &1

An XYZ television supplier found a demand of 200 sets in July, 225 sets in August and 245 sets
in September. Find the demand forecast for the month of October using simple average

method.
A) 175 units B) 200 units
C) 150 units D) 224 units
Answer Key : D Your Response : D (Correct)

Question No. 149
et # gadia 31 W Asaifea 3itaers # =1 Fgr Jar §?
A) fee 3iTaRee B) Hshl 3T
C) HISshl AT D) s8¢ 3TaRer

The operations executed on data stored in registers are known as-

A) Bit operations B) Macro operations
C) Micro operations D) Byte operations
Answer Key : C Your Response : B (Wrong)

Question No. 150

AS 2019 7 Y A HAMSE varatsr 3P 3T (MCX) & vy fieers 3 CEO & & &
FIAHR HHTAT?
A) FReaiater @ B) &ueh Agdr

C) P.S. =& D) WY ofe
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Who took charge as the Managing Director and CEO of the Multi Commodity Exchange of India
(MCX) in May 2019?

A) Chittaranjan Rege B) Deepak Mehta
C) P.S. Reddy D) Pareshnath Paul

Answer Key : C Your Response : Not Answered



